

On q-analogue of Difference Operator with Non-integer Order

Nobuo Kobachi*

Abstract In this paper, we study a q-analogue of difference operator with non-integer order. The main theorem is that the composition rule for this operator is satisfied. And, by the result, we calculate the q-integral and q-differential with non-integer order for a q-exponential function.

Keywords : Riemann-Liouville fractional derivative, composition rule.

1. INTRODUCTION

In this paper, we study a q-analogue of difference operator with non-integer order.

For a function $f(x)$, the Riemann-Liouville fractional derivative ${}_a D_x^{-\alpha}$ is defined by

$$({}_a D_x^{-\alpha} f)(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt. \quad (1.1)$$

In (1), for $a=0, \alpha > 0$ and $x \neq 0$, a q-analogue of (1.1) is defined by

$$(\Delta_q^{-\alpha} f)(x) = \frac{1}{\Gamma_q(\alpha)} \int_0^x (x-[qt])^{\alpha-1} f(t) d_q t. \quad (1.2)$$

In order to extend the range of α , we rewrite definition (1.2).

In the second section, we state a q-analogue of difference operator D_q^α with non-integer order and examples. In the third section, we state that the composition rule $D_q^{\alpha+\beta} = D_q^\alpha \circ D_q^\beta$ is satisfied. And, for proof of the composition rule, we treat a q-analogue of Pascal's triangle, Leibniz formula and Vandermonde convolution formula. In the fourth section, we calculate $D_q^{-\alpha} e_q(x)$, $D_q^{1-\alpha} e_q(x)$ for $0 < \alpha < 1$.

Let q be a fixed number with $0 < q < 1$ and n be a natural number. We use the following notations:

- $(a; q)_n = (1-a)(1-qa)\cdots(1-q^{n-1}a)$,
- $(a; q)_0 = 1$ and $(a; q)_\infty = \prod_{n=0}^{\infty} (1-q^n a)$,
- $n_q = 1 + q + \cdots + q^n = \frac{1-q^{n+1}}{1-q}$, q-natural number;
- $(n!)_q = 1_q \times 2_q \times \cdots \times n_q = \frac{(q; q)_n}{(1-q)^n}$, q-factorial;
- $\binom{n}{k}_q = \frac{(n!)_q}{(k!)_q (n-k)!_q} = \frac{(q^{n-k+1}; q)_k}{(q; q)_k}$ for $k = 0, 1, \dots, n$, q-binomial coefficient;
- $\binom{\alpha}{k}_q = \frac{(q^{\alpha-k+1}; q)_k}{(q; q)_k}$, general q-binomial coefficient;

* Faculty of Liberal Studies
2627 Hirayam, Yatsushiro-shi, Kumamoto, Japan 866-8501

- $(x-[y])^n = (x-y)(x-xy)\cdots(x-q^{n-1}y) = \frac{(y/x; q)_\infty}{(q^n y/x; q)_\infty} x^n$ for $x \neq 0$,
- $(x-[y])^\alpha = \frac{(y/x; q)_\infty}{(q^\alpha y/x; q)_\infty} x^\alpha$ for $|y/x| < q^{-\alpha}$.

2. DEFINITION

A q-analogue of difference operator with non-integer order is defined by

$$D_q^\alpha f(x) = \frac{1}{(1-q)^\alpha x^\alpha} \sum_{n=0}^\infty \frac{(q^{-\alpha}; q)_n}{(q; q)_n} q^n f(q^n x). \tag{2.1}$$

Example 1. We have

- (i) $D_q^1 f(x) = \frac{f(x) - f(qx)}{(1-q)x} = \Delta_q f(x)$, q-difference,
- (ii) $D_q^{-1} f(x) = \sum_{n=0}^\infty (1-q)q^n x f(q^n x) = \int_0^x f(t) d_q t$, Jackson integral.

Example 2. By the q-binomial theorem $\frac{(ax; q)_\infty}{(x; q)_\infty} = \sum_{n=0}^\infty \frac{(a; q)_n}{(q; q)_n} x^n$ for $|x| < 1$ in (2), we have

$$D_q^\alpha x^\lambda = \frac{x^{\lambda-\alpha}}{(1-q)^\alpha} \cdot \frac{(q^{1+\lambda-\alpha}; q)_\infty}{(q^{1+\lambda}; q)_\infty} \text{ for } \lambda \neq -1. \tag{2.2}$$

Thus, for $n \in \mathbb{N}$, the following equations are satisfied:

- (i) $D_q^n x^\lambda = (\lambda - n + 1)_q \cdots (\lambda - 1)_q \lambda_q x^{\lambda-n}$,
- (ii) $D_q^{-n} x^\lambda = \frac{x^{\lambda+n}}{(\lambda + n)_q \cdots (\lambda + 2)_q (\lambda + 1)_q}$,
- (iii) $D_q^\alpha x^n = \frac{x^{n-\alpha}}{\Gamma_q(1-\alpha)} \cdot \frac{(q; q)_n}{(q^{1-\alpha}; q)_n} \quad (\alpha < 1)$,

where $\Gamma_q(\lambda)$ is a q-analogue of Γ -function. It is defined by $\Gamma_q(\lambda) = \frac{(q; q)_\infty}{(q^\lambda; q)_\infty} (1-q)^{1-\lambda}$ for $\lambda > 0$ in (2).

Example 3. For $n \in \mathbb{N}$, we have

$$\begin{aligned} D_q^n f(x) &= \frac{1}{(1-q)^n x^n} \sum_{k=0}^n \frac{(q^{-n}; q)_k}{(q; q)_k} q^k f(q^k x) \\ &= \frac{1}{(1-q)^n x^n} \sum_{k=0}^n (-1)^k \binom{n}{k}_q q^{\frac{1}{2}k(k+1-2n)} f(q^k x) \\ &= \frac{1}{(1-q)^n x^n} \sum_{k=0}^n (-1)^{n-k} \binom{n}{n-k}_q q^{\frac{1}{2}(n-k)(1-n-k)} f(q^{n-k} x) \\ &= \frac{1}{(1-q)^n q^{\frac{1}{2}n(n-1)} x^n} \sum_{k=0}^n \binom{n}{k}_q q^{\frac{1}{2}k(k-1)} (-T)^{n-k} f(x) \\ &= \frac{(1-T)(q-T)\cdots(q^{n-1}-T)f(x)}{(1-q)^n q^{\frac{1}{2}n(n-1)} x^n} \\ &= \Delta_q^n f(x). \end{aligned}$$

Example 4. For $\alpha > 0$ and $|x| > 0$, we have

$$\begin{aligned} D_q^{-\alpha} f(x) &= (1-q)^\alpha x^\alpha \sum_{n=0}^{\infty} \frac{(q^\alpha; q)_n}{(q; q)_n} q^n f(q^n x) \\ &= \frac{1}{\Gamma_q(\alpha)} \sum_{n=0}^{\infty} (1-q) q^n x \cdot \frac{(q^{n+1}; q)_\infty}{(q^{\alpha+n}; q)_\infty} x^{\alpha-1} \cdot f(q^n x) \\ &= \frac{1}{\Gamma_q(\alpha)} \sum_{n=0}^{\infty} (1-q) q^n x \cdot (x - [q^{n+1}x])^{\alpha-1} \cdot f(q^n x) \\ &= \frac{1}{\Gamma_q(\alpha)} \int_0^x (x - [qt])^{\alpha-1} f(t) d_q t. \end{aligned}$$

Thus $D_q^{-\alpha} f(x)$ is a q-analogue of Riemann-Liouville integral (See(1)).

3. MAIN THEOREM

Lemma 1 (q-Pascal's triangle) .

Let n be a natural number. For $k = 1, \dots, n$, we have

$$\binom{n+1}{k}_q = \binom{n}{k}_q + q^{n-k+1} \binom{n}{k-1}_q = \binom{n}{k-1}_q + q^k \binom{n}{k}_q$$

Proof. We have

$$\begin{aligned} \binom{n}{k}_q + q^{n-k+1} \binom{n}{k-1}_q &= \frac{(n!)_q}{(k!)_q \{(n-k)!\}_q} + \frac{q^{n-k+1} (n!)_q}{\{(k-1)!\}_q \{(n-k+1)!\}_q} \\ &= \frac{(n!)_q}{(k!)_q \{(n+1-k)!\}_q} \{(n+1-k)_q + q^{n+1-k} k_q\} \\ &= \frac{\{(n+1)!\}_q}{(k!)_q \{(n+1-k)!\}_q} = \binom{n+1}{k}_q \end{aligned}$$

Similarly, we can obtain $\binom{n+1}{k}_q = \binom{n}{k-1}_q + q^k \binom{n}{k}_q$.

Lemma 2 (q-Leibniz formula) .

We have

$$\Delta_q^n \{f(x)g(x)\} = \sum_{k=0}^n \binom{n}{k}_q \Delta_q^{n-k} f(x) \cdot T^{n-k} \Delta_q^k g(x) = \sum_{k=0}^n \binom{n}{k}_q T^k \Delta_q^{n-k} f(x) \cdot \Delta_q^k g(x),$$

where T is q-shift operator satisfied with $Tf(x) = f(qx)$.

Proof. Obviously,

$$\Delta_q \{f(x)g(x)\} = \Delta_q f(x) \cdot Tg(x) + f(x) \cdot \Delta_q g(x) = \Delta_q f(x) \cdot g(x) + Tf(x) \cdot \Delta_q g(x)$$

is satisfied.

By Lemma 1, we have

$$\begin{aligned} \Delta_q^{n+1} \{f(x)g(x)\} &= \Delta_q \sum_{k=0}^n \binom{n}{k}_q \Delta_q^{n-k} f(x) \cdot T^{n-k} \Delta_q^k g(x) \\ &= \sum_{k=0}^n \binom{n}{k}_q \Delta_q^{n+1-k} f(x) \cdot T^{n+1-k} \Delta_q^k g(x) + \sum_{k=0}^n q^{n-k} \binom{n}{k}_q \Delta_q^{n-k} f(x) \cdot T^{n-k} \Delta_q^{k+1} g(x) \end{aligned}$$

$$\begin{aligned} &= \sum_{k=0}^n \binom{n}{k}_q \Delta_q^{n+1-k} f(x) \cdot T^{n+1-k} \Delta_q^k g(x) + \sum_{k=1}^{n+1} q^{n+1-k} \binom{n}{k-1}_q \Delta_q^{n+1-k} f(x) \cdot T^{n+1-k} \Delta_q^k g(x) \\ &= \sum_{k=0}^{n+1} \binom{n+1}{k}_q \Delta_q^{n+1-k} f(x) \cdot T^{n+1-k} \Delta_q^k g(x). \end{aligned}$$

Similarly, we can obtain

$$\begin{aligned} \Delta_q^{n+1} \{f(x)g(x)\} &= \Delta_q \sum_{k=0}^n \binom{n}{k}_q T^k \Delta_q^{n-k} f(x) \cdot \Delta_q^k g(x) \\ &= \sum_{k=0}^{n+1} \binom{n+1}{k}_q T^k \Delta_q^{n+1-k} f(x) \cdot \Delta_q^k g(x). \end{aligned}$$

Thus, by induction, we can obtain the result of Lemma 2.

Lemma 3 (q-Vandermonde convolution formula) .

We have

$$\binom{\alpha + \beta}{n}_q = \sum_{k=0}^n \binom{\alpha}{n-k}_q \binom{\beta}{k}_q q^{(n-k)(\beta-k)} = \sum_{k=0}^n \binom{\alpha}{n-k}_q \binom{\beta}{k}_q q^{k(\alpha-n+k)}$$

Proof. We have the following equations;

- $\Delta_q^n x^{\alpha+\beta} = (n!)_q x^{\alpha+\beta-n} \binom{\alpha + \beta}{n}_q,$
- $\sum_{k=0}^n \binom{n}{k}_q \Delta_q^{n-k} x^\alpha \cdot T^{n-k} \Delta_q^k x^\beta = (n!)_q x^{\alpha+\beta-n} \sum_{k=0}^n \binom{\alpha}{n-k}_q \binom{\beta}{k}_q q^{(n-k)(\beta-k)},$
- $\sum_{k=0}^n \binom{n}{k}_q T^k \Delta_q^{n-k} x^\alpha \cdot \Delta_q^k x^\beta = (n!)_q x^{\alpha+\beta-n} \sum_{k=0}^n \binom{\alpha}{n-k}_q \binom{\beta}{k}_q q^{k(\alpha-n+k)}.$

Thus, by Lemma 2, we can obtain the result of Lemma 3.

By relation $\frac{(q^{-\alpha}; q)_n}{(q; q)_n} q^{\alpha n} = (-1)^n q^{\frac{1}{2}n(n-1)} \binom{\alpha}{n}_q,$ the result of Lemma 3 is also rewritten as follows:

$$\frac{(q^{-\alpha-\beta}; q)_n}{(q; q)_n} = \sum_{k=0}^n \frac{(q^{-\alpha}; q)_{n-k}}{(q; q)_{n-k}} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^{-\alpha k} = \sum_{k=0}^n \frac{(q^{-\alpha}; q)_{n-k}}{(q; q)_{n-k}} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^{-\beta(n-k)}. \tag{3.1}$$

Theorem. We have

$$D_q^{\alpha+\beta} f(x) = D_q^\beta \{D_q^\alpha f(x)\}.$$

Proof. By (3.1), we have

$$\begin{aligned} D_q^{\alpha+\beta} f(x) &= \frac{1}{(1-q)^{\alpha+\beta} x^{\alpha+\beta}} \sum_{n=0}^{\infty} \frac{(q^{-\alpha-\beta}; q)_n}{(q; q)_n} q^n f(q^n x) \\ &= \frac{1}{(1-q)^{\alpha+\beta} x^{\alpha+\beta}} \sum_{n=0}^{\infty} q^n f(q^n x) \sum_{k=0}^n \frac{(q^{-\alpha}; q)_{n-k}}{(q; q)_{n-k}} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^{-\alpha k} \\ &= \frac{1}{(1-q)^{\alpha+\beta} x^{\alpha+\beta}} \sum_{k=0}^{\infty} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^{-\alpha k} \sum_{n=k}^{\infty} \frac{(q^{-\alpha}; q)_{n-k}}{(q; q)_{n-k}} q^n f(q^n x) \\ &= \frac{1}{(1-q)^{\alpha+\beta} x^{\alpha+\beta}} \sum_{k=0}^{\infty} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^{-\alpha k} \sum_{n=0}^{\infty} \frac{(q^{-\alpha}; q)_n}{(q; q)_n} q^{n+k} f(q^{n+k} x) \\ &= \frac{1}{(1-q)^\beta x^\beta} \sum_{k=0}^{\infty} \frac{(q^{-\beta}; q)_k}{(q; q)_k} q^k \cdot T^k \left[\frac{1}{(1-q)^\alpha x^\alpha} \sum_{n=0}^{\infty} \frac{(q^{-\alpha}; q)_n}{(q; q)_n} q^n f(q^n x) \right] \end{aligned}$$

$$= D_q^\beta \{D_q^\alpha f(x)\}.$$

4. APPLICATIONS

In this section, we study the q-analogue of difference with non-integer on an exponential function.

In (2), two q-analogues of exponential function are defined by

$$e_q(x) = \frac{1}{((1-q)x; q)_\infty} = \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q; q)_n} x^n \quad \text{for } |x| < \infty_q = \lim_{n \rightarrow \infty} n_q = \frac{1}{1-q}$$

and

$$E_q(x) = (-1-q)x; q)_\infty \quad \text{for } x \in \mathbb{R}$$

Lemma 4. For $|x| < \infty_q$, we have

$$\sum_{n=0}^{\infty} \frac{(1-q)^n}{(q^{\alpha+1}; q)_n} x^{\alpha+n} = \alpha_q e_q(x) \int_0^x t^{\alpha-1} E_q(-qt) d_q t.$$

Proof. We put

$$f(x) = \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q^{\alpha+1}; q)_n} x^{\alpha+n}.$$

Then we have

$$\begin{aligned} \Delta_q f(x) &= \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q^{\alpha+1}; q)_n} \cdot (\alpha+n)_q x^{\alpha+n-1} \\ &= \alpha_q x^{\alpha-1} + \sum_{n=1}^{\infty} \frac{(1-q)^{n-1}}{(q^{\alpha+1}; q)_{n-1}} x^{\alpha+n-1} \\ &= \alpha_q x^{\alpha-1} + \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q^{\alpha+1}; q)_n} x^{\alpha+n} \\ &= \alpha_q x^{\alpha-1} + f(x), \end{aligned}$$

and so

$$\Delta_q f(x) - f(x) = \alpha_q x^{\alpha-1}. \tag{4.1}$$

We use the variation of constant. We know that a solution of q-difference equation $\Delta_q f(x) - f(x) = 0$ is $f(x) = C e_q(x)$. Thus we put $f(x) = C(x) \cdot e_q(x)$ and substitute it in (4.1). We have

$$\Delta_q C(x) \cdot e_q(qx) = \alpha_q x^{\alpha-1},$$

and so

$$C(x) = \alpha_q \int_0^x t^{\alpha-1} E_q(-qt) d_q t.$$

Hence we have

$$f(x) = \alpha_q e_q(x) \int_0^x t^{\alpha-1} E_q(-qt) d_q t.$$

Proposition 1. For $0 < \alpha < 1$, we have

$$D_q^{-\alpha} e_q(x) = e_q(x) \cdot \text{Erf}_q(x; \alpha), \tag{4.1}$$

where $\text{Erf}_q(x; \alpha) = \frac{1}{\Gamma_q(\alpha)} \int_0^x t^{\alpha-1} E_q(-qt) d_q t$.

Proof. By Example 2(iii) and Lemma 4, we have

$$\begin{aligned} D_q^{-\alpha} e_q(x) &= \frac{1}{\Gamma_q(\alpha+1)} \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q^{\alpha+1}; q)_n} x^{\alpha+n} \\ &= \frac{e_q(x)}{\Gamma_q(\alpha)} \int_0^x t^{\alpha-1} E_q(-qt) d_q t \\ &= e_q(x) \cdot \text{Erf}_q(x; \alpha). \end{aligned}$$

Proposition 2. For $0 < \alpha < 1$, we have

$$D_q^{1-\alpha} e_q(x) = \frac{1}{\Gamma_q(\alpha)x^{1-\alpha}} + e_q(x) \cdot \text{Erf}_q(x; \alpha). \tag{4.2}$$

Proof. By Theorem and Proposition 1, we have

$$\begin{aligned} D_q^{1-\alpha} e_q(x) &= D_q^1 \{ D_q^{-\alpha} e_q(x) \} \\ &= \Delta_q \{ e_q(x) \cdot \text{Erf}_q(x; \alpha) \} \\ &= e_q(x) \cdot \text{Erf}_q(x; \alpha) + e_q(qx) \cdot \frac{x^{\alpha-1} E_q(-qx)}{\Gamma_q(\alpha)} \\ &= \frac{1}{\Gamma_q(\alpha)x^{1-\alpha}} + e_q(x) \cdot \text{Erf}_q(x; \alpha). \end{aligned}$$

Remark. For $\alpha = \frac{1}{2}$ and $x > 0$, we have the following equations:

- $\lim_{q \rightarrow 1} D_q^{-\frac{1}{2}} e_q(x) = e^x \text{Erf}(\sqrt{x}),$
- $\lim_{q \rightarrow \infty} D_q^{\frac{1}{2}} e_q(x) = \frac{1}{\sqrt{\pi x}} + e^x \text{Erf}(\sqrt{x}),$

where $\text{Erf}(x) = \frac{2}{\sqrt{\pi}} \int_0^x e^{-t^2} dt$ is the error function.

Proof. We have

$$\lim_{q \rightarrow 1} \Gamma_q\left(\frac{1}{2}\right) = \Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$$

and

$$\lim_{q \rightarrow 1} \text{Erf}_q\left(x; \frac{1}{2}\right) = \frac{1}{\sqrt{\pi}} \int_0^x t^{-\frac{1}{2}} e^{-t} dt = \frac{2}{\sqrt{\pi}} \int_0^{\sqrt{x}} e^{-t^2} dt.$$

Thus the result of remark is given from (4.1) and (4.2).

(Manuscript received Sep. 27, 2010)

References

- (1) S.Isogawa, N.Kobachi and S.Hamada : *A q-analogue of the reimann-Liouville fractional derivative*, Res.Rep. Yatsushiro Nat. Coll. Tech. No29,pp59-pp68(2007)
- (2) G.E.Andrews, R.Askey and R.Roy : *Special Functions*, Cambridge University Press(1999)
- (3) G.E.Andrews : *q-Series: Their Development and Application in Analysis, Number Theory, Combinatorics, Physics and Computer Algebra*, Amer. Math. Soc., Providence, RI(1986)
- (4) G.E.Andrews : *The Theory of Partitions*, Cambridge University Press(1984)
- (5) 広田良吾 : *差分方程式論*, サイエンス社(2000)